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1. Tt e 1 A= F 9 I 9w A T IR

%% Tegm B ¥ g8 Fefafem # @ e
A ¥ B 87 :

(a) AfF® 3
(b) CO,
(c) UTEEEH A

(d) T

2. T oo A o T DY F T AL E 3

I 2 e ¥ fog saem o 3§ @ T IEE
1% 30 I Yewrerat # fufea frn mn el
FEER O § Igaia fRn T wee %
wgTq o 1 ifem 1 @ Ao

(a) TER
(b) T
(c) e

(d) THe

3. f gFa R A A SRR RN (RBCs)

B gug R S ¥ o IR AW %
e (TR F1 e faee) § oga B
ST &, A RBCs I &1 B Y

(@) RBCs % St

(b)) RBCs %l St 37R we Srdrf

(c) RBCsﬁl@Gnﬁ'ﬁ

(d) RBCs % =am § ®1§ qiadq &l g
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4. 7% 5 Wi T % dey § frafafea 4 |

PH-91 A TE TE 7

(@ T ¥ fafEi % aem % g demen 2
gl

(b) T TEnatl % grrde § HEEe B 2

(c) T smmE ¥ W Eﬂé@lﬁ% AT
pHﬁ?ﬁT@ﬂ‘! (neutralize)W%l

(d) fe @@ % pH # & wa ¢ iR
syt UegEl R fR R g ST
?I

5. U WIE F e 120/80 mmHg Bl

312 Gt e F i 3

(@) ;e da s e faife
(o) som: P faaif o fem G ®
() s v s s Rk w

(d) wau: Fem g 3R Ao dFe W

6. F1 ARs Frt @ TgA (cliff) F T TR

s & 3R REer ¥ 5s F 9”36
et g ¥ R AR @R hB oI
340 m/s ?, @ @& W ¥ A B 0
Forertt 27

(@) 1700 m
(b)) 170 m
(c) 85 m

(d 850 m



1. A sprinter feels cramps and pain in the

thigh muscles after a run. This is due
to accumulation of

(a) lactic acid
(b) CO,
(c) pyruvic acid

(d) ethanol

2. A leaf was plucked from a plant on

a sunny day and kept for 2 minutes
in boiling water. It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the
final colour of the leaf after the test?
(a) Colourless

(b) Green

(c) Blue

(d) White

3. If the red blood cells (RBCs) of human

blood are isolated and are diluted in
normal saline (an isotonic solution to
blood), what will happen to the RBCs?

(a) The RBCs will swell
(b) The RBCs will swell and burst
(c) The RBCs will shrink

(d) No change in the diameters of
the RBCs
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. Which one of the following statements

regarding bile secreted by liver is not
correct?

(a) Bile contains enzymes for digestion
of lipids.

(b) Bile facilitates emulsification of
fats.

(c) Bile neutralizes the acidic pH of
the food coming from stomach.

(d) Bile makes the pH of the food
alkaline and facilitates action of
pancreatic enzymes.

5. The blood pressure of a normal human

being is found to be 120/80 mmHg.
These “numbers’ represent the blood
pressure at

(a) ventricular contraction and
ventricular relaxation, respectively

(b) ventricular relaxation and ventri-
cular contraction, respectively

(c) auricular contraction and auricular
relaxation, respectively

(d) ventricular contraction and
auricular contraction, respectively

6. A person burned a firecracker in front of

a cliff and heard its echo 5 s after it
burst. The distance of the cliff from
the person, if the speed of the sound
is 340 m/s, is close to

(@) 1700 m
(b) 170 m
(c) 85 m
(d) 850 m

[ P.T.O.




7. TEREH s A WA B o B AR d

fr=fafad ol w fomm fifsw

1. WIEH%H, i S % Ghd (signal)
% yfafda s 21

2. TWIGHGH, & H Igd Gha § ufafda
© W R :

3. ®iER, I Ghd ® A § gRafda
ExaRdl

4. e, I Gha H @ gRafda wan
Bl

I § A HH-H FIA FEl 8
(@ 13R3
(b) 13R 4
(c) 233
d) 23R4

8. 100 W & % fagq ses & T & 10 =2

A & R S @) sed 31 3 At & fonaeht
gz dga Fw K @y K owi?
(1 g2 = 1 kWh)

(@) 3-00

(b) 1-08

(€ 216

(d) 033

9. THUHH W F qiy Hieht Y@ # Y FW I

forelt o1 o o7 Qn-omg U % 3fa &
frefiq = 27

(a) JG&! FEd I

(b) T Fae foeamm
(c) 9% g @@ H T T
(d) 3T Awa =TT
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10. 10 cm B8 g 91 A Y guan et 87

(a) 0-1 STEATX
(b) 1 SRATR

(¢) 10 SHIAT
(d). 100 SEHT

11. 9 ®% Wfifimy e & Sem ¥ et

Frafafaa Hemt w fomm fifv

1. MgO %1 & 3o sar 2|

2. 98 T& AR 1 T 3T B
3. Fw1 3Ry a2 B

IR A |} PH-V B T 7
(@) Faa 1 AR 2
(b) Had 1 3R 3
(c) a2 3R 3
(d 1,23R3

12. = & g Al % dEy § -8 U w8

K44 »
CaO(s) + H,0(l) - Ca (OH), (ag) + 51

1. f @ R W o G B o
- forq forn s R

2. T ¥ N w1 G B e ¥
fore fopan <fran 1

3. @R W CaCO, H Taeht W H &
T ca0 1@ & femm CO, % @Y W’
e & srfwfean e B

4. ‘g gW AW q Fq HlowTw TRGIAES
T e AT B

= fou Y %2 F FEm W EE W g

(@ Faa 1 3R 4

() 23 4

(c) 233

(d 1,334



7. Consider the following statements about

the microphone and the speaker of
a mobile phone :

1. The microphone converts sound to
a mechanical signal.

2. The microphone converts sound to
an electrical signal.

3. The speaker converts a mechanical
signal to sound.

. 4. The speaker converts an electrical
signal to sound.

Which of the statements given above are
correct?

(@ 1 and 3
(b) 1 and 4
) "2:and '3
(d) 2 and 4

8. A 100 W electric bulb is used for

10 hours a day. How many units of
electrical energy are consumed by the
bulb in 3 days? (1 unit =1 kWh)

(@ 3-00
(b) 1-08
€ 216
(d) 0-33

9. The area under the velocity-time graph

for a particle moving in a straight line
with uniform acceleration gives

(a) its average velocity
(b) its net displacement
(c) the distance travelled by it

(d) its average speed
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10. The power of a lens of focal length

10 cm is

(a) 0-1 dioptre
(b) 1 dioptre
(c) 10 dioptre
(d) 100 dioptre

11. Consider the following statements

regarding burning of magnesium ribbon
in air :
1. White powder of MgO is formed.

2. It is an example of combustion
reaction.

3. Heat and light are produced.

Which of the statements given above are
correct?

(@ 1 and 2 only

(b) 1 and 3 only

(¢) 2 and 3 only

(d 1, 2 and 3

12. Which of the following statements with

regard to the reaction given below are
correct?

CaO(s) + H,O(l) - Ca(OH) 2 (ag) + Heat
1. Quicklime is wused for white-
washing of walls.
2. The solution of slaked lime is used
for whitewashing of walls.

3. CaO reacts slowly with CO, in
air to form a thin layer of CaCOg4
on walls. -

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound.

Select the correct answer using the code

given below.

(@ 1 and 4 only

(b) 2 and 4

(c) 2 and 3

(d 1, 3 and 4

[P.T.O.




13. A1 W &S 7ELE Y9 & a9 (heating) %

day ¥ Fefafaa § ¥ FH-8 Fu07 & 87
1. NO %1 5[ 4¥ (fume) Fiacma 21

2. TR 0, T frwwd 2

3. 9% At i %1 T T R

4. W& NO, T % I & fooe weh Som
U (thermal decomposition) bl
TF T &

= o T 2 F @ W w@ W A
(@ 132

(b) 2,334

(c) 1,334

(d) a4 2 3R 4

14, Pr=fafag § ¥ FA-d Atadwo afufen @

??

(@) TR W ST A

(b) WSl Fad @i

(c) TaFanfea (Rancidity)

(d) <&

JNBY-D-GNL/S59A

15. WG ¥ TF (59 & 9R ¥, Fefafaa g@eal

(clues)‘?l'(ﬁ?ﬂ{m:

1. 3w TR iR Ak vl arelt i’
¥ &Y § M @ B

2. TGN YRA % B: § A fF y-Ffas g9
(division) §|

3. W& W F PA AABA H W 2-39
wferera # e gam B

fu M THA F YR W TA A UEEH

i)

(a) FAIEH
(b) Y T
fo} TN ...
(d) BHETE

16. fFrfafaa # ¥ fra Tsa-wge At drd JeTE

Y Tl 77

(@) 3NfEwm, iy wewm, Fih, WY
(b) TG, Y T, FAIeH, HEA TN
(c) Nfewm, iy wm, FAleh, HEA Jou
(d) BTG, Y W, FAieH, HERTY

17. T 3 @ fisll A Farn B 3 fea @ =)

faftm e, TWa:, dieesd, TUH, How
iR gferee # e fam form ) s frafofaa
# § o et &y foean?

(@) WG, Hee, A, A
(b) HOIGR, AT, Y e, AT
(c) T, smm, 3, afeTg
(d) P, smm, iy wew, dieg



13. Which of the following statements with

regard to heating of lead nitrate powder
over a flame are correct?

1. Brown fumes of NO are released.
2. Colourless O, gas is released.

3. It is an example of oxidation
reaction.

4. It is an example of thermal
decomposition used for the
production of NO, gas.

Select the correct answer using the code
given below. ‘

(@ 1 and 2
(b) 2, 3 and 4
¢ 1,3 and 4

(d) 2 and 4 only

14. Which one of the following is not an

oxidation reaction?

(a) Rusting of iron

(b) Opening of soda bottle
(c) Rancidity

(d) Combustion
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15. Consider the following clues about a

State of India :

1. Itis known as ‘land of red river and
blue hills’.

2. It contains three of the six
physiographic divisions of India.

3. It covers about 2:39 percent of
total areas of the country.

Identify the State on the basis of the
given clues. ,

(a) Karnataka

(b) Andhra Pradesh
(c) Assam

(d) Chhattisgarh

16. Which of the following sets of States

shares boundary with Telangana?

(a) Odisha, Andhra Pradesh,
Karnataka, Maharashtra

(b) Chhattisgarh, Andhra Pradesh,
Karnataka, Madhya Pradesh

(c) Odisha, Andhra Pradesh,
Karnataka, Madhya Pradesh

(d) Chhattisgarh, Andhra Pradesh,
Karnataka, Maharashtra

17. Rani told her friends that last year she

did boating in four different lakes,
namely, Loktak, Barapani, Kolleru and
Pulicat. Which of the following States
did she visit?

(a) Manipur, Meghalaya, Kerala,
Tamil Nadu

(b) Manipur, Meghalaya, Andhra
Pradesh, Tamil Nadu

(c) Mizoram, Assam, Kerala,
Tamil Nadu

(d) Mizoram, Assam, Andhra Pradesh,
Tamil Nadu

[ P.T.O.



18. 2011 & UM % IgER, fF=fafea & 4

PH-H1 /-8 FoF & 7 /F7

1. 1 =afh, S %9 g wehal @ fheg fora
€ Fehar, 98 WIER T 2

24 maﬁsﬂzmaﬁmﬁm%ﬁﬁﬁ,
St foreft sft s i wHe @ ge 9e IR
fora At Tt B, Y WIER T ST B

H= faw e e 1 wEm W wd Iw g
(@) Faa 1

(b) %az

(¢) 1323

(d) F@1IANAE 2

10. WA ¥ FA: PR i sin T el @

R Fich-T@1 ot 27
(@ 13R7
(b) 236
(c) 23RS
(d 33R5

20. Freffan § ¥ -6 Rl Rl A @k

A S FHA Y

(@ @ Hf h dw gfg, il | sAfew
?H.l. : .

(b) wu‘hﬁ;ﬂtﬁﬁ

(c) T-gfd & %A
(d) ST F1 =R TR
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21. Fefafad & & #9-# il swfoy v @

N R 9gH § e wdl ¢ 3R e

HAEET ISl 31‘&1‘1\?1? (appreciation of
currency) BT 87

(a) T T v fifgs Hifd
(b) TF=HN e i s Afd

() mmmaﬂzm
s ifa

(d)wmﬁﬁaﬁtmﬁ
Terehe Hifd

22. TWHR R =49 § Hf & wro s o =3 8

HFeH I F1 Fed 87
(@ (st fem #1) sfeima  (Crowding

out)
(b) (F=ht Fam &1) i@ (Crowding in)
(c) awm @Ml (Pump priming)

{(d) i (Dumping)

23, Prefafes § @ BA-w/FA-Y, AN sm@Em

/% 3ewa B[R0

1. Tl /E9 Tsa-gE W Afoat aeg F

2. TEY 3R U9 &/ W Pt #1 st

3. il wa defafy fiftat o wriwn
g festga &

= g g gz w1 W@ W wH W gh)

(a) Faa 1 3R 2

(b) Fad 2 3R 3

(¢ 1,23R3

(d) ¥ 3



18. According to the Census 2011, which of
the following statements is/are correct?

1. A person who can only read but
cannot write, is not literate.

2. A person aged seven years and
above, who can both read and
write with understanding in any
language is treated as literate.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

19. The Tropic of Cancer passes through how
many coastal and landlocked States
of India, respectively?

(@) 1 and 7
(b) 2 and 6
(c) 2 and 5

(d 3 and 5

20. Which one of the following situations can
lead to inflation?

(a) Rapid growth of aggregate demand
outweighing supply

(b) Sluggish growth of aggregate
demand

(c) Reduction in the money supply

(d) Higher levels of unemployment
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21. Which of the following policies help

to raise interest rate unambiguously
and thereby lead to appreciation of
currency?

(a) Expansionary fiscal and monetary
policy

(b) Contractionary fiscal and monetary
policy

(c) Contractionary fiscal policy and
expansionary monetary policy

(d) Contractionary monetary policy
and expansionary fiscal policy

22. The contraction of private investment

spending due to deficit spending by the
Government is called

(a) crowding out
(b) crowding in
(c) pump priming

(d) dumping

23. Which among the following is/are the

objective /objectives of the NITI Aayog?

1. Imposing policies on the
States/UTs ;

2. Allocation of funds at National and
State levels

3. Design strategies and long-term
policies and programme frame-
works

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3
(d) 3 only

[ P.T.O.




24. i@ dedf @iy & anur w wifts Wiy ==fe

3991 9 (MPCE) % deo #§ et & qRepeH
1 i foveh g1 < i ofi?

(@) ST HiAfd
(b) TgER wfifd
(c) <= Tffa
(d) e wiufa

25. Fefafea # & #F-w/F-7, W e

o fawm (NSDM) #1/% u-3Rw &/87

1. GEITTd wideo

2. WHFUHHE AR

3. UESHE MNUNE GTEAT H1 N ISH
(leveraging) :

H o T g2 w1 wEm W Ed I gh)

(@) a1

(b) aE 2

(c 1,2%3R3

(d) Faa 2 3R 3

26. POSHAN M = $EifRd #0 % fig

frafafgs & @ *-d FdHf /Rt
TS T B/R7
1. 9E® Y1 ggEht & fou eiw-afw

e (inter-sectoral convergence)

2. wfeanstt 3R = I IrEafas® T (real
time) ¥ g A FTHR FT F g
e (1CT) 1 W@

= g g 2 w1 wEe W wd W gy

(@) a1

(b) Fad 2

(c) 1 3R 23E

(d AR 1IRTH 2
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27. G ¥ IATU-TE (writ of certiorari) STt

A & fou Frafafan # ¥ fR-@ wd/ad
e 2/37

1. T it a1 Y it @ e
e o yeeEl % IR @ wfya
FA 9 IE B FuRe w9 w5 it
TR & R =i & ¥ w1 9 #
Fa 7|

2. W AftERw a1 e 3 siitefar ¥
form = fomam 21

R fo g gz w1 yE W g W YR
(@) Fad 1

(b) HTA 2

(c) 1 3R 2 M

(d) Fd1ARIA 2

28. T ¥ YRA ¥ fh g =mwfd 3 ‘el

die’ am ¥ TP =Edie 1 e w0 @5
e fam ar?

(@) T o Teo T

(b) LA Fo o AAHI
(c) =EHLd FRo THo @l
(d) =FHf ago Ho WA

29. T ¥ < S99 Y HI oG P 87

(@ T4 faer <
(b) R TR
(c) 3T EEF A

(d) A |




24. The computation of poverty in terms
of Monthly Per Capita Consumption
Expenditure (MPCE) based on the Mixed
Reference Period was recommended
by the

(a) Lakdawala Committee
(b) Tendulkar Committee
() Dandekar Committee

(d) Alagh Committee

25. Which of the following is/are the sub-
mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training
2. Overseas employment
3. ' Leveraging of public infrastructure

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) 1,2 and 3
(d) 2 and 3 only

26. Which of the following strategies iS/are
adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
better service delivery

2. Use of technology (ICT) for real-time
growth monitoring of women and
children

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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27. Which of the following conditions is/are

necessary for the issue of a writ of
certiorari in India?

1. There should be a tribunal or an
officer having legal authority to
determine  questions  affecting
rights of subjects and having a duty
to act judicially.

2. Such tribunal or officer has acted
without jurisdiction.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

28. Who among the following Chief Justices

of India ordered the constitution of
a Special Bench called ‘Social Justice
Bench’ ?

(@) Justice H. L. Dattu
(b) Justice K. G. Balakrishnan
(c) Justice R. M. Lodha

(d) Justice Y. K. Sabharwal

29. Who among the following is the author

of the book, Bandi Jivan ?
(a) Rash Behari Bose

(b) Veer Savarkar

(c) Aruna Asaf Ali

(d) Sachindranath Sanyal

[ P.T.O.




30. 1937 # W T #H, WRdA WA FW 33. TaE AR fosmaR 't F owe g-wm #®

frefafaa & @ #$9-8 @ yE § A g Frafefaa & @ SF-w@ Q) afeaf sedh &7
9€l 9rél (single largest party) % "
T TE 3Tg ot (@) 030 TR
(@) w=TE AR oy ®) i
(b) s sh R e g e mmm
(@) F=m SR G

(c) USTE AR Y
(@) 3R SR FE 34, Frefefan # A dAe0 P W (dual
control structure) 9Tl THATA s s

31. Prefirfiaa Fert T frew Bt ; FH-H 7
AR = BN F T FA F G- GI 9% fa) 3 foord gt o
el (b) 3TEH TFHH
1. SO 9§ ® ® R 3 sied § @ (c) Ta-foea o g
<t ge # afrat At wdi
2 o R E A T e () S I
m .
35. Ffafaa # & 3w &1 9T GYEA (ethnic
% Tl 4 Eﬁh-m/iﬁq-ﬁ /R community) FH-41 87 _
(@) a1 @
(b) FadA 2 ) i
(c) 1 3R 23E () wEm
(d Fd1MAE2 @ =k
32. Wi % fafim =@ # wwl o Fefafea 36. frafafas # ¥ frm 3w A fke a9 &
i A @ H-w I e gaferd T8 7 R (Chevrons) 87
(@ WO : $EF R ®9H TRYT (@) R
() oo dm ¥ Frer w9 e (b) 7 ieeigm
(c) SER : Wifth sl UG § e (c) TS
(d TR T e F smen (@ =
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30. In the election held in 1937, in which
two provinces was the Indian National
Congress not able to emerge as the
single largest party?

(a) Punjab and Sind
(b)) Assam and North-West Frontier
Province

(c) Punjab and Assam
(d) Assam and Madras

31. Consider the following statements :

After forming the Indian National Army,
Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War
in Japanese camp

2. introduced a women’s detachment
named after the Rani of Jhansi

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

32. Which one of the following pairs denoting
various forms of ‘Bhakti’ is not correctly
matched?

(a) Saguna : Belief in Gods with
attributes

(b) Nirguna : Belief in Gods without

attributes

(c) Alvars : Believed in devotion of
Shakti

(d) Nayanars : Believed in devotion of
Shiva
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33. Which two rivers flow in the region

between Gulbarga and Vijayanagara
Hampi?

(a) Narmada and Godavari
(bp) Mahanadi and Godavari
(c) Kaveri and Periyar

(d) Krishna and Tungabhadra

34. Which of the following is the only

paramilitary force with a dual control
structure?

(a) Central Reserve Police Force
(b) Assam Rifles
(c) Indo-Tibetan Border Police

(d) Central Industrial Security Force

35. Which one of the following is an ethnic

community of Assam?
(a) Bhil

(b) Gond

(c) Ahom

(d) Adi

36. The Chevrons is the name of the cricket

team of which one of the following
countries?

(@) Australia
(b) The Netherlands
(c) Ireland

(d) Zimbabwe

[P.T.0.




37. Wﬁmﬁmmﬁﬁm%ﬁqﬁaﬁaﬁ

¥ for i sam i S Tt
(a) W’(‘HT@HW

(b) FaARE I TFA I

(c) FIgE TSI THA Je
(@) FA TEE IaH

38. T ¥ M, a4 2022 # NyF fgm § A9

TR 1 YTHehdl &t 87
(@) TR TEFR

(b) SH Tho FATSK
(c) FARY THAEA

(d) TR fSiferm

39. g 3R 3g gl & forw Wit & wRed =m

(reflex arc) fowRm B9 &1 Fr=feafea & @
FH-TT A, wﬁaﬁwﬁmmﬂ
Freftra wan 87 .

(@) T — Fod 2 — e & R =R
— HfETsh — Wb =R — HRR
(b) TE — Fad A — iR — Iy
7 A =R — I =R — FER
(o) TR — W =RA — Wy RS R

— Fad R — HE
(d) T — b =|H — AfersH — Fa3d
A — R

40. IRRA 1 ¥g uise A F R

Frafafea # @ P9-w1 sifad &7
(@) NacCl

(b) KCl

(c) HRla

(d) JIEER
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42. 98 T, At Ry=as

41. SEgfq HIfvEReT §f RNA #&f femm g 27

(@) Fad HIRTRES
(b) S F5H IR BRTHHEA

(c) 5, HIRTHEA, GAHH, e
3R 3iase St

(d) 5%, HIRHEA, GrHvE, FRacas
R TEEEm

(intercalary
meristem) HHIIG: % W @@ grar 27

(@) ™

(b) aﬁ * g

(c) TS

(d) TR-3m

43. N4l § S % SeAgEl 9er % I Seem

YHR 1 Gy Sak g §) fefaRea § @
FH-H S5 S SNfad FveRi 4 w0
BT 87

(a) M (Tracheid)

(b) afEeH (Vessel)

(c) ST Jgdsh (Xylem parenchyma)

(d) SIS BIER (Xylem fibre)



37. Cheetahs, brought from Namibia, were 41. In plant cells, RNA is present in
introduced in India to which one of

the following National Parks? (@) cytoplasm only

(a) Kaziranga National Park

(b) Keoladeo Ghana National Park (b) nuclei and cytoplasm only
(c) Keibul Lamjao National Park
(d) Kuno National Park (¢) nuclei, cytoplasm, mitochondria,

chloroplast and endoplasmic

38. Who among the following is not a reticulum

recipient of the Nobel Prize in Physics
in 2022? (d) nuclei, cytoplasm, mitochondria,

i) Swin: Awpest chloroplast and ribosomes

(b) John F. Clauser
(c) Klaus Hasselmann

42. In grasses, intercalary meristem is
(d) Anton Zeilinger

usually located at

39. Reflex arcs are evolved in animals for
quick and efficient responses. Which
one of the following sequences correctly
represents a reflex arc? (b) lateral sides of stem

(a) root tip

(a) Receptor—Sensory neuron—Relay :
neuron in spinal cord—Brain— (c) base of leaves
Motor neuron—Effector

(b) Receptor—Sensory neuron—Brain (d) shoot tip
—Relay neuron in spinal cord
—Motor neuron—Effector

(c) Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

43. Xylem is a type of complex tissue in
plants for upward conduction of water.
: Which one of the following xylem tissues
(d) Receptor—Motor neuron—Brain consists of living cells?
—Sensory neuron—Effector ‘
40. Which one of the following is essential {a), T0Eg
for thyroid gland to make thyroxin?

(@ NaCl (b) Vessel

@) - KC1 (c) Xylem parenchyma
(c) Cholesterol

(d) Iodine (d) Xylem fibre
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44. 11 Q 22 Q 3R 33 Q ¥y I =

yhg®s T4 @[ 21 T ged iy

48. 12 m/s § 91 q 7fd W W@ T FR F 5F

T R 3G 91 § 6 m/s? 1 HeH Bl Bl

foresh seR 27 e T % §1C BR T & [T 2 s H T
At B FF TN F A8 FR A T H W gl
81, 26 1 forarht ®7
(b) 22 Q
(@ 12 m
€ 12 Q (b) 24 m
(d 6 Q (c) 36 m
(d 48 m

45. WA W fga-smfd § @ fagem o)
(red live wire) 3R Tl ITFH TR (black 49. T YER ¥ AfmmE wOTEEEE
neutral wire) % ®9 rm.s. fE® g 1 27

(potential difference) fora B 27 (@) GfeTm BRSNS wEME 3R TR

(@ 160 V A H1 A
(b)) 220V (b) WfeEm FERe iR TeRRE S W
(c) 300V o ; :
(d) 410V (c) Z:“EWWIS@WWWW
Aifeam Fge R '

46. TR W SR eI W T M W (d)q’m GRS
a2 §7
(a) R e iR foee 50. frfafaa wut w fRER Hifv
(b) ﬁ@maﬂzwﬁﬁww Hifxd AEEF 3 *F 91d F TFA A 99
(c) i frgea o demm 1. [HzO"] 3! % |igW/9E1 (volume) H

, e B ®

(@) S Fee R e 9 ik w3 e SRl R R

3. Wd A 3 ofR-+R frem =feg
47. @i 3R v @

I § A BH-T1/FH-H FOF T /7
(a) Ty # s S IR sgEed A @ (@ 1,233
(b) 1Y ShHE: ST IR e At & (b) FaA 1 3R 2

(c) arg 3T e A & (c) a3
(d) g & 3 ST Bt § (d) ¥ 2 3R 3
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44. Three resistors of resistances 11 Q, 22 Q
and 33 Q are connected in parallel.
Their equivalent resistance is equal to

(@ 66 Q
(b) 22 Q
© 12 Q

d 6 Q

45. The r.m.s. potential difference between
the red live wire and black neutral wire
in Indian domestic electric supply is

(@ 160 V
(b) 220V
(¢ 300V

(d) 410V

46. The hydrogen bomb and the uranium
- bomb are based, respectively on

(a) nuclear fusion and fission
(b) fission and thermonuclear fusion
(c) geothermal fission and fusion

(d) geothermal fusion and fission

47. Sound and light waves are

(a) respectively longitudinal and

transverse in air

(b) respectively transverse and

longitudinal in air
(c) both longitudinal in air

(d) both transverse in air

JNBY-D-GNL/59A 17

48. A car moving with a speed of 12 m/s
is subjected to brakes which produces
a deceleration of 6 m/ s2. The car takes
2s to stop after the application of
brakes. What is the distance covered
by the car after the application of
brakes?

(a) 12'm
(b)) 24 m
(c) 36 m
(d 48 m
49. What is the chemical composition of
a soda-acid type fire extinguisher?

(@) Solution of sodium hydrogen
carbonate and sulfuric acid

(b) - Solution of sodium carbonate and
sulfuric acid

(c) Solution of carbon dioxide and
sulfuric acid

(d) Solution of sodium chloride and
sulfuric acid

50. Consider the following statements :

While diluting concentrated nitric acid
solution

1. the concentration of [H;0"] ions/
volume increases

2. water must be added slowly to
concentrated acid

3. acid must be added slowly to water

Which of the ‘statements given above
is/are correct? :

(@ 1, 2 and 3
(b) 1 and 2 only
(c) 3 only.

(d) 2 and 3 only

[ P.T.O.




51. feu 7 et % forw pH 1 9d w9 Frfofaa

H Y FH-91 87

(a) HH < g w1 W@ < fies 31fe it <

Th

(b) ﬁaaﬁmﬁzﬁm<m<m<:ﬁ1

%l ™

(c) g F1 @ < T < Hh < e AT
rffyrn

(d) g F1 W@ < FhH < T < fed 7w
fifsrn

s2. W v § e el # @ B
i 7

(@) T TR = dearor gfeRieft = #1

(b) Yfifrm, @fem sir ififtew S
uTgat o WA R S e R

(c)mﬁaﬁﬁmwﬁ@@%aﬂ(

TS g Hoe W I Bt B
(d) & IYIAR AN § YFH a1 B

53. A9ucd ffd FHeel SN (yellow  sooty
flame) % ¥ STl 8 | THH FRU &

(@) T W TEGISH 1 AT FH Bl
(b) Y TE el R
(c) a7 H rcafers mafd Bt B

(d) TEZSA R GeR H e fremm
Bt B
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54. Fe,0, I Ughifem % iy sifufen & fog
Frafafea & & F9-3 5= v &7

1. I8 ‘ymige fufean’ ¥ &9 § 31 2

2. IO T FH YA Afcen-wEeE * fag
foram e 21

3. Ughfem uig e w6 & w9 3§
FE Fl B

4. fufrn f g ®w i Fe 3R Al
T4 8|

= fow T Fe w1 W W T W gAY
(@ 132
(b) '1afr(3
() 23R4

(d) 13K 4

55. &t 3 s il A @ @9 (Stewart
Island), & 316 W& (Bay of Plenty) 3R
8% 9 (Hawke Bay) % ¥HU & &R # )
ot 3 form 2w 1 ymor foman?

(a) TSI
(b) ATEfeTN
(c) =Ihere

(d) IS




51. Which one of the following is the correct
order of pH for the given substances?

(a) Coffee < Lemon juice < Milk of
magnesia < Blood

(b) Milk of magnesia < Blood < Coffee
< Lemon juice

(c) Lemon juice < Blood < Coffee < Milk
of magnesia

(d) Lemon juice < Coffee < Blood < Milk
of magnesia

52. Which one of the following is not true
for anodizing process?

(a) It makes aluminium corrosion
resistant.

(b) Metals like aluminium, titanium
and magnesium can be anodized.

(c) Clean aluminium article is the
anode and oxygen gas is evolved at

‘the cathode.

(d) 1t is used in aircraft industry.

53. Naphthalene burns with a yellow sooty
flame. This is because

(a) carbon to hydrogen ratio is low
(b) there is incomplete combustion

(c) there is excess supply of air

(d) of presence of impurities of

nitrogen and sulfur

JNBY-D-GNL/59A
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54. Which of the following statements are
true for the reaction of Fe,O5 with
aluminium?

1. It is known as the ‘thermite
reaction’.

2. The heat evolved is used for
welding purpose.

3. Aluminium metal acts as an
oxidizing agent.

4. Molten Fe and Al are formed at the
end of the reaction.

Select the correct answer using the code
given below.

(@ 1 and 2
(b) 1 and 3
() 2 and 4
(d) 1 and 4

55. Vicky told his friends about his visit
to Stewart Island, Bay of Plenty and
Hawke Bay. Which country did Vicky
visit?

(a) Canada
(b) Australia
(c) New Zealand

(d) Ireland

[P.T.O.




56. 7a fogt § wft e fam formwa welt @ 59. -1 A A1 % Wy gafma Hifw ik

YHU F I AT 1 @1 R | 98 WHO HE it F N R T g2 = W@ W Ed W
e :
(@) < fer, Fga F R, s Afer
-1 eI
(b) T Trem, 3R e, FgE TR (Rem) (avéra)
_ | A. fag sméafy Raw 1. 29 yeié
o TR, e e B, dnifmam e 2. 22
(d) mﬁm,gﬂww,‘sﬁmﬁz C. fau 5« feem 3. 2 ®El
- D. qigE urg gedft feqw 4. 22 W
: e
57. 3f2 15 ufsm & g@ F R 5@ g, @ T
% e R & el 1 wE wH /0 ame (a) 2 4B Cll 2D
(@) TATTS, HEG, FATA, T b A "B ¢ . P
S NI g

b) TEAFR, HEY, T, TR
i o) K - Bt B

(c) FHR, TR, ST, T
7T R - B sty
(d) FER, TR, A1, HTAR <

60. fiem WEe™m g oW 2020-2021 % fau

58. ffeifaa & & fra =9 =1 I—<fam fem & THRE Wevd Ao gEEE (PG #,
gatftes foeamr 27 Frafafaa & | fra Tsa /99 T59-83 w1 W@
_ 3 ufe & e =t 27
(a) FRES
_ (@)
(b) AT )
(b) USTE
(c) shfem (c) T T R
(d) sETG (d) =g
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56. Manav is planning to visit all UNESCO
World Heritage Sites in Delhi. He will be
visiting

(a) Red Fort, Qutab Minar, Jama
Masjid

(b) Red Fort, India Gate, Qutab Minar

(c) Red Fort, Qutab Minar, Humayun
Tomb

(d) Red Fort, Humayun Tomb, India
Gate

57. What will be the correct sequence of
cities on the bank of river Ganga if
someone moves from west to east?

(a) Prayagraj, Kanpur, Bhagalpur,
Patna

(b) Prayagraj, ‘Kanpur, Patna,

Bhagalpur

(c) Kanpur, Prayagraj, Bhagalpur,
Patna

(d) Kanpur, Prayagraj, Patna,

Bhagalpur

58. Which one among the following States
has the longest extension in north-
south direction?

(a) Jharkhand
(b) Telangana
(c) Odisha

(d) Chhattisgarh

. JNBY-D-GNL/59A

59. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I1 List-I
(Day) (Date)
A. World Wetlands Day 1. 29 July
B. International Tiger Day 2. 22 April
C. World Water Day 3. 2 February
D. International Mother 4. 22 March
Earth Day
Code :
(@) A B c D
3 4 1 2
(b) A € D
3 1 4 2
(c) ‘A C D
2 1 4 3
(d A B C D
2 4 1 3

60. Which one of the following States/UTs
is not among the top five in the
Performance Grading Index (PGI),
published by the Ministry of Education
for the year 2020-2021?

(a) Kerala
(b) Punjab
(c) NCT of Delhi

(d) Chandigarh

[P.T.O.




61. FrefoRan Fot w Rrar BT ot SRR ) 63. fiiffad # & He-u1/A-2 wom @ 2/87

TR : 1. faiwfa of gm B am air &
- (Tomb of Sand) AUEH FH TEHR
3 TR fben s, Adere o fmfar & aar St areft go1 &9 @ frel sl s 3
FUA GRAT WET FAAT §1 1992 F 37 forelt ¢ weeht ge R
vl R ¥aH B @ 3R af 1998 @ 2. i o e, R ¥ sERa ween
AW T 2001 T IE FHT Moo yuoE I § T SR R R Tem
#%WH%W’?WW/WW fran mam)
§ 3% 3gOig Srsfiad e #) dwd
ﬁnﬁ@awmmméamgg = o e e el A w3 g
faEar ) (@ a9 1
(b) F¥aA2
(@) ST (¢) 13 23
(d @ 1IRIH2
(b) TEIRT EHA
64. TS WF AWM H @Al GO, W TH
fusfm  d=-a-d=  aam (bilateral
CAREE military-to-military exercise) 7, anft 7@
A A wra 3R Fr=fefaa 3§ | frm 2w & gy
(d) =T UG aal & s R e
(@) SUHE
(b) TEMfRE
(c) ¥ZH
"62. UN 2023 5@ 9RcH # (ERH-Td (d) R

(venue) Frfafaa # & #m-w1 27 ;
65. TSI Uk & forg weer g Fmffag 3§ @
o8 3aT 1 waWT foRn S g 27

qIf¥FTE, So Ho
i (a) &, 9ot 3Tt W WG =59 S M
(b) THafa = e weE (subsidy) YoM
(b) A £ac)
(o) T IR FER W W W ® F ogfe
(c) & fewm FAT
(d) Irfed Tt fifYr oguE (CRR) & &t
(@ 3G FE
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61. Consider the following statements and
identify the actress :

She is a renowned film actress, director
and producer, and an accomplished
Indian classical dancer. She was
conferred the Padma Shri in 1992 and
has served as the Head of Central Board
for Film Certification from 1998 to 2001.
In recognition to her exemplary lifetime
contribution to Indian Cinema, she
was honoured with the prestigious
Dadasaheb Phalke Award.

(a) Vyjayanthimala
() Waheeda Rehman
(c) Mala Sinha

(d) Asha Parekh

62. Which one of the following is the venue
of the UN 2023 Water Conference?

(a) Washington, DC
(b) New York
(c) San Diego

(d) New Delhi
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63. Which of the following statements is/are

correct?

1. Tomb of Sand, written by Geetanjali
Shree, is the first book originally
written in any Indian language to
win the International Booker Prize.

2. Tomb of Sand is the first novel
translated from Hindi to be given
the International Booker Prize.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

64. The eighth edition of the Exercise Garuda

Shakti, a bilateral military-to-military
exercise, was conducted recently
between the special forces of India and

(a) Japan
(b) Indonesia
(c) Bhutan

(d) Myanmar

65. Which one of the following is a measure

that can be used by the Government
for combatting inflation?

(a) Increasing the non-planned
expenditure on defence, police, etc.

(b) Providing more subsidies on
exports

(c) Increasing the rate of interest on
savings and fixed deposits

(d) Reduction in the cash reserve
ratio (CRR)

[ P.T.O.




66. T FMd wR § Hies e ) @91 w8 87 69. f=fafaa § ¥ FF-91/39-9, yuFEh @R
W& AT (PMSSY) F1/% 329 /87

(a) FFERfI (Deflation) 1. gl wrRen dETe Jarsl i 3T

H &l srEger! # Q FE
() FRESOIAH [Sageiagion) 2. < e s s e
% forq wrdvim uge wem s -
Devaluati
(c) 3ATHIA (Devaluation) b R wa
(d) T (Recession) gﬁm?’ﬁﬁﬁm
= g g e @ wEm = W R
67. W wg-I@mEh e wEEE  (MPI) (@) e 13R3
Trfafga & ¥ F9-81 Ghas affifera 27
o) e (b) Fad 2 3R 3
(b) T R (c) Had 1
(c) 3 ETfaa (d 1,233
(d) wid =3t
70. T ¥ 5w usHifas Ja1 3 weHifes d@mea *
: w1 § R T F0E A o0 F3 3 A
68. WENfihl 1o fasiy Searel it win # uftad=t & I 9 GR1 39 WRreTad 1 game foam ot
FROT B el ST ) 1 Fed 87
LEC]
o + g (@) TG

(b) EEATHF AT (b e N TR ST
(c) Ehr R () THo FHo Tieh
(d) T=5 SUSTRI (d) AR TEE

JNBY-D-GNL/S59A 24



66. The sustained decrease in the general
price level is called as

(a) deflation
(b) stagflation
(c) devaluation

(d) recession

67. Which one of the following indicators
is included in the National
Multidimensional Poverty Index (MPI)?

(a) Years of schooling
(b) Literacy rate
(c) Life expectancy

(d) Per capita income

68. The unemployment that occurs due to
changes in the technology or in the
demand for particular products is called

(a) frictional unemployment
(b) structural unemployment
(c) cyclical unemployment

(d) disguised unemployment

JNBY-D-GNL/59A : 25

69. Which of the following is/are the

objective/objectives of the Pradhan
Mantri Swasthya Suraksha Yojana
(PMSSY)?

1. Correcting regional imbalances in
the availability of tertiary health
care services

2. Providing ‘universal access to
public health services and
universal immunization

3. Augmenting facilities for quality
' medical education in the country

Select the correct answer using the code
given below.

(@) 1 and 3 only
(b) 2 and 3 only
(c) 1 only

(d 1,2 and 3

70. Who among the following political leaders
suggested the dissolution of the Indian
National Congress as a political
organization and its replacement by a
Lok Sevak Sangh?

(a) Vallabhbhai Patel
(b) Dr. B. R. Ambedkar
(c) M. K. Gandhi

(d) Jawaharlal Nehru

[ P.T.O.




71.

72.

WK, wgw Ty Wi fvm § afken e
(all-woman contingent) ¥\ §4Td T T
fag & e 3 R = fm fem dw A
aRenfora faRam mn?

(a) <gafaEn

(b) HSH
(o T
() FeRmE

Ffafaa & & F9-91, SWAYAM Fd% =1
Teean i 27

(a) fen =rEam
(b) e AR

) TFE { F & AU e qR==t
BRY

(d) TR &1 @ @R i ¥ Tmh f’R
eRare /fie foran < gepar 2

73. fiafafen & ¥ Fw-w R/ TR

W & i T 27

(@) T faam

(b) T fawm

(c) TER Wit TEETE eRRR Twghan
(@) <, T iR e w5 R
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74. frefafen # @ R wwa % dfigm 6 gl

I % i W R tsw ¥ e
FATEHR IRl T 0 F1 f@wifr
WeH TR T R, Rt ergaf senfat §
Topg s1ggfea & = 87

(a) WEEi¥E TST 1 T<I9TA
(b) ¥R 1 UEAlY
(c) SR-TT fwg

(d) ¥Ra H GgEe

75. Ul H=fos ufwg ¥, fF=fifas § @ 99-3

T4 /69 TSI - 87 widferg §7

(@) ITWIEE, IW Yo, TRATN, GeE, g
3R HYR

(b) RN, YSTE, e wew, ToRyE U
T TSy 8 g

(c) IW W, IWEE, Y@, AT T
TSTEIH

(d) IWEE, IN WV, A=a =W, vo=
wd ghamn

76. TU WER W ufwid sgar 1 gwon

(notion of kinship) F=fafad # & fras
H1EAH § FATOH §9 A THIE 27

(@) el @ T TR (identification)
(b) ©THF HEAHT B IFEH
) Remem yufe

panegyrics)

(d) Tt 3R Gfifeen (sculpture)

(inscriptional



71. India is the first country in the world 74. Who among the following is given

to deploy an all-woman contingent to discretionary powers under the Fifth

a UN Peacekeeping Mission. In which Schedule of the Constitution of India

country did this mission operate? to set up a Tribes Advisory Council in
a State which has Scheduled Tribes but

(a) " Liberia not Scheduled Areas? '

(b) Sudan (a) The Governor of the concerned

State
(c) Burundi (b) The President of India
(d) Croatia (c) The Inter-State Council

(d) The Parliament of India

72. Which one among the following is not

a part of the SWAYAM programme? 75. Which of the following States/UTs are

included in the Northern Zonal Council?
(a) Video lectures
(a) Uttarakhand, Uttar Pradesh,

(b) Classroom lectures Haryana, Punjab, Jammu and
Kashmir

(¢c) Online discussion forum for

. (b) Haryana, Punjab, Himachal
clearing doubts

Pradesh, Rajasthan and NCT of

Delhi
(d) Specially prepared material that

can be downloaded /printed (c) Uttar Pradesh, Uttarakhand,
Punjab, Haryana and Rajasthan

(d) Uttarakhand, Uttar Pradesh,

73. Which one among the following Hissnchial. Pradesti: Bunjeb: and

Departments/Authorities is not under

H
the Ministry of Home Affairs? s de i
(@) The Department of States 76. The notion of kinship projected by
the Kushana rulers is best evidenced
() The Department of Official - through which of the following?

Language
(a) Their identification with deities
(c) The National Authority Chemical

Weapons. Cotitention (b) Grants to religious institutions

(c) Inscriptional panegyrics
(d) The Department of Jammu, :
Kashmir and Ladakh Affairs (d) Coins and sculpture
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77. TN 9Ra # Frefofaa § @ e O F e A

ST ST °qr?

(@) #$A AfeeTs

(b) gy # aftg wiedt (elder nuns)
(c) Theoft 98 (status) § dfua Afgamd

81. Ffafad # @ form fade # =@ R =i

Sefd % PRedl 7 TH HAAHeSR URER *
T Aftufd (overlord) % foaeg smmea hi?

(@ "I faN® (Rampa Rebellion),
1879-1880

(b) TeW TSR (Gudem Uprising), 1886

(0 Tm TfoRE (Rampa Rebellion),
1922-1924

(d) qETET G GO (Telangana Armed
Struggle), 1946-1951

(@) < g9 Feniya afeamnd

78. TaH AT 3fea Wesdt & form wew= 3 1914

# gaerae § da witfa F e f o _
(@) A TH SR 82. f¥ 39 3 FIFA fag %9 (T89) #a@ 1fos awr
: St 87 '
(b) TEET FS& e
(c) THo o I (b) T
(@) AT e (c) wiE
(@) ¥

79. YR ATA-AUST g I Wi frfafea # @

s T T o7 83. T ¥ wN WRIg I|Mm, [ ww wig
: (City of Joy) 1 w@F 87
(a) T Y :
(a) & *ifed (Larry Collins)
(b) 3@{ |fH (b) i At (Dominique Lapierre)
(c) deTild THEAT  (Convention  of (c) ¥=aE foaferm (Rudyard Kipling)
Wadgaon) (d) ¥ &t (Mark Tully)
(d) dTeeTs GiY

84. 7 ¥ frd ufr  gh=w  Aoft
(Entrepreneurial Vision category) k|
T TP JATSR HEHA & 99 2022 IfUgH
A% T #d TR (Champions of the

80. 3 WSS (battle) T 0 wa1gy, e FauEpR
F TS A 1741 F <9 1 WA foman om)

(@ O A H @i Earth Award) ¥ ¥faa foman e 87
(@) ¥ HE
HAd hl AR
- (b) HA TTEH
(c) IR < TS & e
(d) SHREA (Changanassery) $ TeT (d) df¥ER TR
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77. Who among the following were referred
- to as the Theris’ in ancient India?

(a) Respected women
(b) Elder nuns in Buddhism

(c) Women denied the Bhikkhuni
status

(d) Women expelled from the Buddhist
Sangha

78. Which member of the Servants of India
Society founded the Seva Samiti at
Allahabad in 1914?

(a) Shri Ram Bajpai
(b) Hriday Nath Kunzru
(c) S. G. Vaze

(d) Srinivas Shastri

79. The First Anglo-Maratha War was
concluded by which one of ' the
following?

(a) The Treaty of Surat
(b) The Treaty of Purandar
(c) The Convention of Wadgaon

(d) The Treaty of Salbai

80. Name the battle in which the Travancore
King defeated the Dutch in 1741.

(a) The Battle of Porto Novo
(b) The Battle of Colachel
(c) The Battle of Pollilore

(d) The Battle of Changanassery
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81. In which one of the following revolts

did the Koya and Konda tribal chiefs
rise against the local overlord from
a Mansabdar family?

(a) The Rampa Rebellion, 1879-1880
(b) The Gudem Uprising, 1886
(c) The Rampa Rebellion, 1922-1924

(d) The Telangana Armed Struggle,
1946-1951

82. Which country won the FIFA World Cup

(Men) for maximum number of times?
(a) Argentina

(b) Brazil

(c) France

(d) Spain

83. Who among the following is the author of

the famous novel, City of Joy ?
(a) Larry Collins-

(b) Dominique Lapierre

(c) Rudyard Kipling

(d) Mark Tully

84. Who among the following is honoured

with the UN Environment Programme’s
2022 Champions of the Earth Award in
the Entrepreneurial Vision category?

() Ela Bhatt
(b) Amit Dasgupta
() Purnima Devi Barman

(d) Vanshika Parmar

[ P.T.O.




85. WRd #I G20 HAFW H faww-sxg Tgha

FFIH, A TH YT JgE-F A
el | o T 37

(@) FETgaT
(b) HET-39Mg
(c) FaEg

(@) i

86. A Y@ R AGHFAR-UH  IRIE H

- ARA-A9TE e | SR SR F 1641
v fager, 2022 § @ ol Sed wha
(Nepal Army Battle School), RIGEC
RS T3 T o) 39 ST # AW

?7
(@) afifa
(b) T ot

(c) T& ™

(d) g4 T

87, IR ek e ¥HY (GMT) ¥ 10:00 a.m. &,

@ 90° E W T F1 G5 B?
(@ 5:00 a.m.

(b) 4:00 a.m. ‘

(c) 3:00 p.m.

(d) 4:00 p.m.
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88. fr=fafad # @ fore TR-wg =1 T 7' (gas

planets)’ &gl STal ?, HifH 3 Rl E Boeh!
%, 39 3R 9 | 9 77

(a) T, FEA, I, [
(b) FewHq, T, Fo=, W
(c) M, HA, FewHd, I=
(d) ==, T, 7,

89. frdft wa1 & war it FfoRaa faemarett =

ﬁﬁl’(ﬁﬁﬂl:

1. 3 e o1, e 3R ghuew & fm-fim
ATl ¥ =+ #

2. T TRl W URm, BERRE Ind eiR
<1 vty orguE § §)

3. ¥ TaIRll &l ITh A & AR W I[W
3R afigra fopa < wehan R

@ T favlwaelt ¥ MR W WA H UER
TEEY|

(@) &G (Alluvial)
(b) TRUFE (Laterite)
(c) T (Arid)

(d) el (Black)




85. The theme of India’s G20 Presidency
‘Vasudhaiva Kutumbakam’ or ‘One
Earth-One Family-One Future’ is drawn
from the

(a) Maha Purana
(b) Maha Upanishad
(c) Rig Veda
(d) Smriti

86. The 16th edition of Indo-Nepal annual
joint training exercise in jungle warfare
and counterterrorism operations was
held in December 2022 at Nepal Army

Battle School, Saljhandi. What is the
name of this exercise?

(a) Sampriti
(b) Mitra Shakti
(c) Yudh Abhyas
(d) Surya Kiran
87. If it is 10:00 a.m. at Greenwich Mean

Time (GMT), then what will be the time
at 90° E longitude?

(a) 5:00 a.m.
(b) 4:00 a.m.
(¢} 3:00:-p.m.

(d) 4:00 p.m.
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88. Which of the following groups of planets

is termed as ‘gas planets’ as they are
composed primarily of lighter ices,
liquids and gases?

(a) Mars, Jupiter, Neptune, Uranus

(b) Jupiter, Uranus, Neptune, Saturn

(c) Saturn, Mars, Jupiter, Neptune

(d) Neptune, Saturn, Mars, Uranus

89. Consider the following characteristics of

a soil type :

1. These soils consist of various
proportions of sand, silt and clay.

2. These soils contain adequate
proportions of potash, phosphoric
acid and lime.

3. These soils can be further classified
on the basis of their age.

Identify the type of soil on the basis of
the given characteristics.

(a) Alluvial
(b) Laterite
(c) Arid

(d) Black

[P.T.O.




JNBY-D-GNL/59A -

90. fr=fafiad weAl | famr FHifse 3tk = g o

%2 H T W e IR A :

1. Tl am fagq = A @, HFa T
wiHfas E S@ e w1 swEm faq
IeqreA % forg foen < 21

2. Ut ™ A R 3@ W F 9een F foe
M ) T fe ST R, S wEE @
B ToRe B, @ = (spins) 3R
Th(tums)@m%,ﬁmﬁ@wm
Bt 2

Fe
(@) F9F 1§ g FoF 2 v 7 ®
(b) 9 2 G B g w1 WA A R

(c) 2 B wA ¥ 3R F 2, T 1 A
R FA 2

(d) 3 F T & g w2, T 1 R
T e Bl ©

91. fiey 7 aftm =1 foreaw el 7 &7

(a) <EF@, s 3R HvR, faee W,
LEIC] ;

(b) ERE, S 3R HYHR, USTE, ghEmn

(c) Er@, sw] IR FWER, gerE, ghEm,
TSI

(@) vErE, s IR FwiR, e W,
qairE, RN, TSRy
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92. WRd ¥ WEHEINHal (SGI) % Hey H

P & 4 - o e T A7

(@) SGI, THR H gea faf FemEsr da
2l :

(b) SGI, 3m 1 fydees fafer st B
2l

(c) SGI % 98 Tk Hifqen¥a ug B )

(@ ubmea f Fafe wffa gm0 sar #
foges foman s ®1

03. fr=fafaa § ¥ fre aftfa § =1 a1 @ wew

& B 87

(a) < @ |fifa

(b) TR IuwH-waH wffa
(c) rEeH |fufa

(d) wifeet iR erggfa sttt &
Hegu-gad affy

94. WA % Ugdfd & Fate ¥ gaw # f=fafaa §

¥ HH-T1 Y T AL 87

(@ 5 F=g TR, tgufa Faifea R &=
A E g

(b) Teafa w1 Fatem dug iR T @ "
TH-831 H ym-wnet & fFaifa
He=i g foran e )

(c) FTatas m § fyurh ofeg & Faifa
Heeg e & 8 &

(d) Tha UHEEE WA FA IAGUIGH
wfafferea wefa &1 arem fFa s 21




90. Consider the following statements and
identify the correct answer using the
code given below :

1. In a thermal power station, fuels
such as oil, coal or natural gas are
used to generate electricity.

2. Fuels are burned to heat water and

“turn it into steam, which goes

through a turbine, which spins and
turns, generating electricity.

Code :

(a) Statement 1 is  correct but
statement 2 is not correct

(b) Statement 2 is correct but
statement 1 is not correct

(c) Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does not explain
statement 1

91. Indus river basin is extended up to

(a) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab

(h) Ladakh, Jammu and Kashmir,
Punjab, Haryana

() Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan

(d) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab,
Haryana, Rajasthan
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92. Which one of the following statements
about the Solicitor General of India
(SGI) is not correct?

(@)

(b)

(c)

(@)

The SGI is the Government’s chief
legal advisor.

The SGI is the secondary law officer
of the country.

The post . of " the SGI is
a constitutional post.

The SGI is appointed by the
Appointments Committee of the
Cabinet.

93. Which one of the following committees
does not have members from the
Rajya Sabha?

(@)
(b)

(c)
(@)

The Public Accounts Cqmmittee

The Committee on Public
Undertakings

The Estimates Committee

The Committee on the Welfare of
Scheduled Castes and Scheduled
Tribes 3

94. Which one of the following statements
about the election of the President of
India is not correct?

(@)

(b)

(c)

(@)

A Union Minister shall not be
eligible for election as the
President.

The President is elected by the
elected members of the Parliament
and the Legislative Assemblies of
States and Union Territories.

The Electoral College does not
include elected members of the
Legislative Councils.

The system of proportional
representation by means of single
transferable vote is followed.

[ P.T.O.




95. AR AfufEw, 1955 fra afi@ =1 91 39% 98. HIqdl I1 33l Yl CE § U TS R 39

91 ArTiERa & Fufor @ gaftE j7 gt & fa ¥ fow =afem fe T g @il
(@ 26 a8, 1950 ?ﬁ;&ﬁaﬁwﬂaﬁm%mmm

(b) 26 TER, 1949
(c) 15 3T, 1947 (@) THARRA (Ennayiram)

(d) 14 3T, 1947 (b) AW (Uttaramerur)

96. Hfif (NITI) s g fffa wia wg-smmh (c) TemmiTem (Siyyamangalam)
el gEsw (MP) & IgER, fRft aRew
(household) # & T s 3, AR (d) FIFEWEATE (Kudumiyamalai)

1. 9RER (household) % TH +ft ¥eeg i
TgaH -y (undernourished) %

w9 § FY Tt } 99. 3IBREEl WA ¥ WA % Ged H, ‘TwH
2. 15 99 3iR 49 o & <fw i g Awh (Dastak)’ @1 &1?
foreht nfeen wew &1 R 5=2mE gusis
(body mass index) 185 kg/m? & (@) TEIER
A
13 o T 2 1 T R ey
(@) % 1 (c) FaE™ WfE
(b) Fad 2

(d) TE (textiles) T F
(c) 1 3R 23

(d Fd@1IMAA 2 _
100. fr=fefen & & #9-w, gera: ‘<&’ v A

97. THHE (Rayagajakesari)’ 3R g 17 '
TESHE (Dayagajakesari) 1 Iutfmf
Frafafaa § | frg Toew A dag ofi? (@) T IEH
(a) HHAE n =
(b) fo=ETR
(c) TISHfd (c) TETERINGT (officials) & B UGIC]
gt (d) TSRS HIEm
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95. The Citizenship Act, 1955 deals with the
determination of citizenship on or after

(a) 26th January, 1950
(b) 26th November, 1949
(c) 15th August, 1947

(d) 14th August, 1947

96. According to the National Multi-
dimensional Poverty Index (MPI)
constructed by the NITI Aayog,
a household is considered deprived if

1. a single member of the household
is identified as under-nourished

2. the body mass index of a woman
member, between 15 years
and 49 years of age, is below
185 kg/m?

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

97. The titles of ‘Rayagajakesari’ and
‘Dayagajakesari’ were associated with

which one of the following dynasties? -

(a) Kakatiya
_(b) Vijayanagara
(c) Gajapati

(d) Rashtrakuta
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98. Name the location of the musical

inscription containing groups of musical
notes arranged for the benefit of his
pupils by a king in the seventh or eighth
century CE.

(a) Ennayiram
(b) Uttaramerur
(c) Siyyamangalam

(d) Kudumiyamalai

99. In the context of eighteenth century

India, what was ‘Dastak’
(a) Signature

(b) Land document

(c) Trade permit

(d) Tax on textiles

100. Which one of the following was primarily

associated with ‘Dadni’ system?

(a) Textile production

(b) Warfare
(c) Payment to officials

(d) Revenue collection

[ P.T.O.




101. FTHEg Aes @d % ar 7 ffafad
FoHl W = fifv -

1. 98 ofir 96 % 92 W e 21

2. HAFEY WY F FER ggen AR dwd
yal CE & o9 & & ¥ ¢

3. 3 ©d W quR e 6w freh
off|

g § § FH-Y FUF HE 87
(@) Faa 1 3R 2
(b) Fad 2 3 3
(c) @ 133

(d 1,23M3

102. SemgE! % aR # Frafafaa # @ -8 s
e 27

1. Sa@gEl H FEA@  (strength) H
STl fremét FE!EIEB (Volcanic
Explosive Index) ¥ A1 STl 2|

2. WgHee o feindfa, amemge fowa
(volcanic activity) 3 ﬁﬁﬁ@{ Of

3. varegEl i e, Teh 3R IR A
% qon o e BTN fi S w2

= faw e g2 1 W R EE I gh
(@) Fad 1 3R 2
(b) Fad 2 3R 3
(c) Faa 133

(d 1,233

JNBY-D-GNL/59A

36

103. 79 ¥ F YHR H Tefafga fodivast w

fomm i
1. ﬁmﬁﬁﬁa‘aﬁ%l

2. Y& Y H THAN THR T S AV,
sl 3R fasiell g 3= & gt 71

3. A 9h Ferieft F ER A AR, T
“Frers-vid (anvil tops)’ S B B

& 17 foRiarel & YR W 7Y YHR h TE=H
wHifs |

(@) T FUR 79 (Stratocumulus)
(b) FUTEH i 9 (Cumulonimbus)
(c) 9&™ a7 (Cirrocumulus)

(d) @9 ¥9 (Nimbostratus)

104. H1 3@ T WeRfa & GEd & 6 TR

TR 21 % 4 TR, THA:, SHEEAT AHR AR
Faia i gem AvE § wefvd §1 W %
e fefafas § @ SF-w1 wa@iite 9w
qm?

(@) 90 e (Pie chart)
(b) T UE (Scatter graph)
(c) <89 (Bar chart)

(d) FrepfE % (Triangular graph)




101. Consider the following statements about

Kanaganahalli archaeological site :

1. It is situated on the bank of Bhima
river.

2. The remains of the Kanaganahalli
Stupa can be dated between
1st and 3rd centuries CE.

3. Emperor Ashoka’s image was found
at the site.

Which of the statements given above are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3

102. Which of the following statements about

volcanoes are correct?

1.” = The . :strengih. ~of: ' a
is measured by the
Explosive Index.

volcano
Volcanic

2. Iceland and Philippines were
created by volcanic activity.

3. Volcanic soils are rich, deep
and fertile and allow intensive

agriculture to take place.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3
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103. Consider the following characteristics of

a cloud type :
1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliflower-shaped
towers, often ‘anvil tops’.

Identify the type of cloud on the basis
of the given characteristics.

(a) Stratocumulus
(b) Cumulonimbus
(c) Cirrocumulus

(d) Nimbostratus

104. Meena wants to show diagrammatically

37

how two sets of data, namely,
population size and number of services
are related to each other. Which one of
the following will be the most suitable
for the presentation?

(a) Pie chart

(b) Scatter graph

(c) Bar chart

(d) Triangular graph

[ P.T.O.




105. F=fafas wwdm vl 4 @ frah 9o <

e g7
(a) Tt
(b) T
(c) WRTZ
(d) Y goW

106. F=fciRaa wuAt § @ FH-a1/H9-2 ad 2/87

1. fommamTm e -eg o R
2. dHeA™ NE T SN U B

Hi= fo T g2 F W W W gy
(@ @ 1

(b) Fad 2

(c) 1 3R 23N

(d AR 1MAA 2

107. 9§ 2011 3R 2021 ¥ &9 WRa F TSR

g7 1 ghe | ¥ auily, s omfy ¥ dvm
WA % forg Fresiea & & ot oft g€ ¥7

(@) AT FoR 99 [70 Wiowd ¥ i fam
HYAAT (canopy density)]

(b) "R WA d4 (40-70 Ufawd & =
Toram o)

(c) G F1 (10-20 wfowa & 9 foam
HEAT)

(d) (b) 3R (c) 3
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108. g™ fren +fifd, 2020 ¥ wafm FrfeRaa

Yl R foam Hifsm

1. @9 2025 @ ®FA AR I=R Rian
JUTelt &% WEAH ¥ FH-Q-FH 50 SR
Terenfdfat =1 saTerEies fan & st

2. wWafe fae™, sme fo WMo,
uifeefees i o st % @y
e w3 |

3. weEs fien e v 4 R-awd
AT (NGOs) g1 Y& i Sef |

ST YA § | PH-A1/HA-A TE B8
(@ Fad 1

(b) FaA 1 3R 2

(c) Faa 2 3R 3

(d 1,23R3

109. ifd (NITI) 3Tm % orgEw, Frafafes § @

U1 1 HH-T1 998, THT TWHo So Sfo wRa
IS, 2020-2021 (Composite SDG
India Index, 2020-2021) & T=@ 9 7

(@) 394, FINEs, faEr
(b) IW YW, ARG, faEr
(c) W W, fe@R, @m

(d) 3nfewm, foEr, srREe



105. Which one of the following Indian States
has the longest coastline?

(@) Tamil Nadu
(b) Gujarat
() Maharashtra

(d) Andhra Pradesh

106. Which of the following statements is/are

correct?

1. Visakhapatnam Port is a land-
locked  harbour.

2. Deendayal Port is a tidal port.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

107. There is an increase in forest cover area
of India between 2011 and 2021.
However, there is a decrease in forest
cover area of India during the same
period in

(a) very dense forest (canopy density of
more than 70 percent)

(b) moderately dense forest (canopy
density between 40-70 percent)

(c) open forest (canopy density
between 10-20 percent)

(d) Both (b) and (c)
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108. Consider the following statements

concerning the National Education
Policy, 2020 :

1. At least 50 percent of the learners
through  school and higher
education system to get exposure
to vocational education by 2025.

2. Secondary schools should
collaborate with ITIs, Polytechnics
and local industries.

3. Vocational education to be
exclusively provided by NGOs.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

109. Which of the following sets of States

is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

(a) Assam, Jharkhand, Bihar
(b) Uttar Pradesh, Jharkhand, Bihar
(c) Uttar Pradesh, Bihar, Assam

(d) Odisha, Bihar, Jharkhand

[ P.T.O.




- 110. Frfafes § ¥ FH-w1, TG F GluE F

=BT 51 FHI A TE 77

(@) g wifd iR gean F F@mE

(b) TSl % < FEETa 3R FHEY Heul
Y T TG

(c) FaigE famt & wwum % faw UN
wrife |1 T TE

(d) eIy g SaiyE faet ¥ fwer %
 for et e

111. ¥ § =H, -y anaﬁm (NAM) & o

= (formative phase) F M Aga ¥
it & on?

(@) &M GEAE (Kwame Nkrumah)

(b) SETE A AR (Gamal Abdel
Nasser)

(c) TR HE®

| (d) Trew ®ml (Fidel Castro)
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112. sgderl & gy #, frafafas # @ $9-8 w99

& 87
1. UM qas IR Rewwr A

2. T - FS gRam g Fta
Topan e @)

3. 3 9giH 5@ (Deccan) 3R WEWTg H
O

= Ry e 2 w1 W@ W FE IR gAY
(@) Fad 1 3R 2
(b) Fa@ 2 IR 3
(c) Fa@ 1 3R 3
(d 1,23R3

113. e #, fmen § oo giwg @t snfteRes

Y ¥ WHART A 96 G99 Igal R
T Y A A7

(@) A @RE
(b) aﬁ%ﬂﬁiﬁ
(c) ST
(@) Taferm st

114. 5= F FWEHHN a1 % Sad & 9R T TRHE

Hfaal, 713 e # a@s 0 § B 27

(@) TREY G

(b) FTHA AR
(c) WTEER =S
(d) T snad




110. Which one of the following is not a part 112. In respect to Balutedars, which of the

of Article 51 of the Constitution of statements given below are correct?

India? 1. They were village servants and

artisans.

2. They were employed by individual

(a) Promote international peace and peasant family.

security
: 3. They existed in the Medieval
Deccan and Maharashtra.
(b) Maintain just and honourable Select the correct answer using the code
relations between nations given below.
(a) 1 and 2 only
(c) Use of UN peacekeeping force for (b) 2 and 3 only

resolution of international disputes (¢) 1 and 3 only

(d) -1;:2:end 3
(d) Encourage settlement of inter-
national disputes by arbitration

113. Which one of the following Viceroys was
the first to officially shift his Council
to Simla in summer season?

(a) John Lawrence

111. Who among the following was not in (b) Lord Dalhousie
the core leadership of the Non-Aligned (c) Lord Mayo
Movement (NAM) in its formative phase?

(d) William Bentinck

(a) Kwame Nkrumah

114. Who among the following is the author
of Maze Vidyapeeth, the famous poem
about the life of working class of

(b) Gamal Abdel Nasser Bombay?

(a) Narayan Surve

(c) Jawaharlal Nehru (b) Amol Palekar

(c) Bhalchandra Nemade
(d) Fidel Castro (d) Narendra Jadhav

JNBY-D-GNL/59A 41 : [ PIT.O.




115. 0 & ey 104 vaed A R wl wm B 110, T A R v T (Payyoli

T Y 7 Express)’ % 9 @ ST S7aT 87
(a) THHA 39
(b) TH WA T ol g
(c) BRHFTY SR (b) T <
(d) F99 9%
: (c) o Fo 3w
116. 3 W, 2021 F WY Y HE@HT § SAFHR
fie T wes & a8 2023 H P R (d) SR e
HARTEE 9§ 7 1 Fiofy R man?

(@) dumof fywm % fou S Ree

(Basic Sciences)

120. @Rk @Ef R, 2022 ¥ fe@el §

. Hefea -1+ gA-11 F @ gl Hifte
(b) ®= o ghwt 3 1 Ry T R T o W
(c) Ti&e (Millets) W gAY ;
(d) F2 (Camelids)
gei-1 -1
117. #Fifd% #@om, (@R IcC g9 T20 fyws, (F&==6 =1 7 3R faun) (PE)
ke
(@) R B. gng?%w(wﬁm- 2. dfon T
) g e sl SR
i et _c. @mf(m-m) 3. 5 AR
(@) R D. 37cig e (A1) 4. TS PR M
118. TR Haeq (Wassenaar Arrangement) % stk
oy A frafafea § 4 SF-a1 Fom wd T @l A Bl R
77 ; R S
(a) 38 TR | 42 wfewrf 3w wmfve §) :
) A BSed R
(b) TR TS HEAA: Th TAY TRER -5 g e ige g
Ftter (nuclear weapon overseer) *
w9 T TR ) e A B Vp
(c) WG T9 YT 1 JAHM e B ek M
(d) ¥Ra 30 Faeq ¥ 99 2017 ¥ Wit R e R
B3| : 4 2 e
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115. Who among the following founded 119. Who among the following is known as
the Hindu Dharma Sabha in the ‘Payyoli Express’?
19th century?

(a) Radhakanta Deb
() Ram Mohan Roy (b) Dutee Chand

(a) Hima Das

(c) Dwarkanath Tagore
(d) Keshab Chandra Sen

(c) P.T. Usha

(d) Shiny Abraham
116. The resolution adopted by the United
Nations General Assembly on 3 March,
2021 decided to celebrate the year 2023

a5 the Internationet Ske ot 120. Match List-I with List-II relating to

Sahitya Akademi Award Winners, 2022

(a) Basic Sciences for Sustainable and select the correct answer using the
Development code given below the Lists :
(b) Glass
(C ) Millets ) List-1 List-IT
(Title and Genre) (Author)

(d) Camelids
A. Bhool Satya (Short 1. Kamal Ranga

117. Karthik Meiyappan, who secured Stories)
hat-trick in the ICC Men’s T20 World
Cup, 2022, represents B. Tumadi Ke Shabd 2. Veena Gupta
(Poetry)

(a) Zimbabwe

(b) United Arab Emirates C. Chhe Roopak (Drama) 3. Badri Narayan
(c) Sri Lanka D. Alekhun Amba (Play) 4. Manoj Kumar
(d) Namibia it
118. Which one of the following statements Code :
about the Wassenaar Arrangement is
not correct? (@) A B O D
(a) There are 42 participating nations 1 " a *
in the Arrangement. b) A B C D
(b) It is formed primarily as a nuclear 1 3 2 4
weapon overseer.
(c) India is the current Chairman of () : ? (2: 11)
the Arrangement.
(d) India joined the Arrangement in (@ A B € D
the year 2017. 4 2 3 1
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INSTRUCTIONS
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the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

- You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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